
0

50

100
# 

ne
ur

on
a # FB = 2

0

50

100

# 
ne

ur
on

0 1
modulation strength

0

50

100

# 
ne

ur
on

# FB = 4

0 1
modulation strength

# FB = 10

0 1
modulation strength

2
m = 0.1

2
m = 1

2
m = 4

0.01 0.1 0.2 0.5 1.0 4.0
modulation width 2

m

1
2
4

10
20

# 
FB

 si
gn

al
s

b signal clarity

0

1

0.01 0.1 0.2 0.5 1.0 4.0
modulation width 2

m

1
2
4

10
20

# 
FB

 si
gn

al
s

c final loss

100

101

102

4

0

4

W
ef

f

d

0 1 2 3 4 5 6 7
# contexts

0

5

er
ro

r


